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QUESTION 1

You are configuring a VEE group to include rules to be executed when loading the initial measurement data (IMD). 

What is the VEE group directly associated with? 

A. Device Type and Measuring Component Type 

B. Measuring Component Type 

C. Device Type 

D. Usage Type 

E. Device Configuration Type 

Correct Answer: E 

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf (151 152) 

 

QUESTION 2

What correctly describes the order in which algorithms, if plugged in, are executed when a bill changes from the
"Pending" state to the "Complete" state? 

A. Service Agreement Type - Pre-Bill Completion; Service Agreement Type - Bill Completion; Customer Class - Pre-Bill
Completion; Customer Class - Bill Completion; Customer Class - Post-Bill Completion 

B. Customer Class - Pre-Bill Completion; Customer Class - Bill Completion; Service Agreement Type - Pre-Bill
Completion; Service Agreement Type - Post-Bill Completion 

C. Customer Class - Pre-Bill Completion; Service Agreement Type - Pre-Bill Completion; Customer Class - Bill
Completion; Service Agreement Type - Bill Completion; Customer Class - Post-Bill Completion 

D. Service Agreement Type - Pre-Bill Completion; Customer Class - Pre-Bill Completion; Service Agreement Type - Bill
Completion; Customer Class - Bill Completion; Customer Class - Post-Bill Completion 

E. Service Agreement Type - Pre-Bill Completion; Customer Class - Pre-Bill Completion; Service Agreement Type - Bill
Completion; Customer Class - Bill Completion; Service Agreement Type - Post-Bill Completion; Customer Class - Post-
Bill Completion 

Correct Answer: D 

 

QUESTION 3

Your client has the following requirements: 

Many customers are installing their own solar electrical generation equipment. When these customers generate more
electricity than required for their own use, the surplus can he exported back to the power grid. 

In order to measure this generation, we have installed special scalar devices. These devices have separate registers to
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measure the energy generated (export) and the energy received (import) from the National Grid. Both reads will be
stored in kWh, but the import is subtractive and export is consumptive. 

What solution should you choose to configure the measuring component types for these specific requirements? 

A. Create two service points: one for subtractive import and the other for consumptive export. 

B. Create one new measuring component type for creating two measuring components (one for import and the other for
export) that will be linked to one scalar device. 

C. Create one new measuring component type for creating a new measuring component that will be linked to two
different scalar devices (one for import and the other for export). 

D. Create two new measuring component types (one for subtractive import and the other for consumptive export) to
enable the creation of two measuring components that will be linked to one scalar device. 

Correct Answer: D 

 

QUESTION 4

Which three statements are true in relation to a Payment Arrangement Request? (Choose three.) 

A. examines the Account\\'s eligibility for Payment Arrangement 

B. ensures creation of either Pay Plan or Payment Arrangement 

C. creates the Payment Arrangement Service Agreement 

D. calculates delinquent amount for Service Agreements eligible for Payment Arrangement 

E. determines if the Payment Arrangement Request requires approval 

Correct Answer: ACE 

 

QUESTION 5

Your client has three requirements: 

1.

 Apply validations on meter reads coming from the Data Collectors. 

2.

 If a meter read does not pass the validation, an error will be generated and assigned to a user. 

3.

 Retry the validation every 30 minutes for the errors in case the issue is related to configuration. Which statement
describes the base functions you should use? 

A. If a To Do entry is created on the VEE exception, the IMD\\'s Next Retry Date/Time is set to 30 minutes, and then
processed by the algorithm D1-COMP-TD (Complete To Do Entries). 
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B. If a To Do entry is created on the VEE exception, the IMD\\'s Next Retry Date/Time is set to 30 minutes, and then
processed by the algorithm D1-IMD-RETRY (Retry Initial Measurement Data Processing) 

C. If a To Do entry is created on the VEE exception, the user will need to discard the IMD and a new IMD will be loaded
after 30 minutes. 

D. If a To Do entry is created on the VEE exception, the IMD\\'s Next Retry Date/Time is set to 30 minutes, and then
processed by the algorithm D1-CRE-IMDTD (Create To Do) 

E. If a To Do entry is created on the VEE exception, the user will need to discard the IMD and a new IMD will be
manually loaded. 

Correct Answer: D 
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